5(@% o (ANPoprO - 2010
Myglg

') Xt L gede dul

/
3
QX [).4.4-4 —> 15
d2 -l-l-l > -S4
2= % XX X, 134 1, 1 —> ]l
1}1,4.4; —> |
;)

—l -7 -3 —~>-8

199,83 —8 &, 3,4,4y—3
0 -/él/rB) ’()'/ — -3

-,-2,2,3 > 2 (5
412,Zﬁ5”3@9 ’h-%\,hy—>—5
4-/2;'7'7"3 — =2 Ll/B/—’ flo— 5

43 - [4 — -
11’2/'2;3 -’)@ 4/7—3' 1)1')—’) i
6,2 =t e -
’ -6~Z,—/ -l —S 1o
6/”2/ I =1 — ( :jd-{Z:Z\
—'é Z"” / ) (1
-4, 15—
6,1, - — 6
2008
’) X —X=)008 = 0O x>0



2008
X =x +2006>x =D &QJZ z >1

9000
2 ]I/ZO/O X E
| <« x <=z

L0l6 /2002 ¥ b
X -(X ) :(x +2002> = x4 Lolgx .\_ZoogZ

Co'b
_ LOol6 x= ><+Zooé

ﬂ[x\ (c=1)(x=2) 1 _ L (x-20)

PV = (=) (=2) . (x= oD+ L X

( 3 - i 2



20. 10515 .2 -(
0 105 59 2 2 =|olo.lolo = 00

/041\

P o

b TLI
I

Up(x) = ﬂ*xz)//wﬁ)[/#xg) - (/%Xz)

J0[/&0@) [030\+ IOZ£+/0¢ +d=qg(lo)
7{(]*) = TO% (TG £ Te +d
&f{/) =a+bicrd

f/y?: [/*/_6)//74”/2 p ()4 7_32")
[0
(¢>: 2.9 .5, . _ o5 =29
' T T | to2 ;)\
[O




NO = lle = oH= B

R, p,=5 & A5=Rpa.=3 R,z

4 A
ﬂ%cgﬁ='4i cor= oA = 242,45

Q :AS.4+§.4: é0+203g0

ARCD

4k = /l/Z

M= Hk- Yk
" & Hk=ln' - HM — bk —-//Z(ﬁ'ﬂ

- 4/‘2'- U%"' 4

21



D A ‘(’q{_ .
CRB / CPB n,a/f’(-awa,o@v

(%C iPO'E‘eWM)o. A (.o(/lMM)

PRCB CiclL! O

A N |
RPC - RR C /au,g.aic>
A e RC

Liplo . CQPA  (PQ= CAB

A
CP Imacttwee oo RP@ H ' cau o
A
RPQ



